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Mean=45 
mean squared error:

 1299.35
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Mean=48 
mean squared error:

 1285.46

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●
●

●
●

●

●

●

●
●

●

●

●
●

●

●

●

●

●●

●

●

●

●

●
●

●●

●

●
●

●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●
●

●

●

●

●
●
●

●
●

0 20 40 60 80 100

−
50

0
50

10
0

Index

da
ta ●

●
●●●●●

●
●●●●

●
●●●●●

●●
●●
●●
●
●●●

●
●●●●

●●●●●●
●
●●●●

●●●●●●●●●●●●●●●●●
●●●●●

●
●●●●●●

●●●●
●●●

●
●●●●

●●●●●●●
●●●●

●
●●●●●

●
●●●●

●●●●●
●
●●●●●●●●

Mean=49 
mean squared error:

 1284.83
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Mean=50 
mean squared error:

 1286.21
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Mean=51 
mean squared error:

 1289.58
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Mean=52 
mean squared error:

 1294.95


